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B.A/B.Sc. (General) 4™ Semester
(2053)
ECONOMICS (In all Mediums)
Paper : Quantitative Methods

Time Allowed : Three Hours] [Maximum Marks : 90
Note :—(1) Attempt FIVE questions in all.
(2)  Question No. 1 (Unit-I) is compulsory.
(3) Select ONE question from each unit.
(4) Use of simple calculator is allowed.
UNIT—I
1. Attempt any NINE :
(1) Define “Unit Set”.
(2) IfA={1,2,3,4} and B = {2, 4, 6}. Find B - A.

3) Find ..
dx
1 3 5
= —x} =2
y= X X

(4) Define “Row Matrix™.

(5) Explain the meaning of an Average.
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() Find Mode N
¢ e sl fufnfunfs]e

(7) -!\‘[im‘ “Dispersion’ 7

() Give two uses of [ndex No. |

(9) Define “Scattered Diagram”™.

(10) Give two uses of Regression.

(11) Define “Interpolation”,

(12) Define “Trend" 2x9=18
UNIT-I

. X dy
If v = ——. prove that x—==yY(l-Y).
) Hj.p o (1-y)

OR
(R) Revenue = 1200x - 2x2
(C) Cost =x'-61.25x*+ 1528.5x + 2000
Find x for which profit will be maximum. 18
UNITII

—
r
-

[FN=100, X = 40.SD, =5 were calculated. By mistake the

value of one 1tem 30 was taken in place of 40. Find correct
coefficient of variance (CV).

OR
140
[fA=]-12 2| prove that AA" = 18
L0002

0319/PT-26385(T) 2



UNIT—IV
4. Calculate co-cfficient of correlation (r) :
Woody | 3 | 4 6 7 10
f{?hcn}r 9 11 14 15 16

OR
Obtain two Regression lines of the following data :
el s 2 3 4 | 5 6 7
Y| 9 8 10 12 11 | 13 ] 14 18
UNIT—V
5. | Goods Base Year Current Year
P, Exp. P, Exp.
A 4 40 5 50
B 3 21 3 27
C 6 48 8 40
D 5 30 4 32
| E 8 64 10 60
Find Fisher’s Index No.
OR
Find the Trend Values of the following data :
Years Sale
2010 80
2011 90
2012 92
2013 83
2014 94
2015 99
2016 92
2017 104 18
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gle—11

\J‘ \ [ i 9
R y— N A R AR x D =y y).

X 43 dx
Sl
(R) e = 1200x — 2x’
(C) M = X' — 61.25x* + 1528.5% + 2000

x §d @i RPras R aifdean d@m I | 18
gfAe-111

afR N = 100, X =40, SD, = 5 #I ﬂﬁr:n # e At | e
¥ uF g W WA 40 D ¥ YT 50 A ferdr AT | TEI
F1 gE OIE (CV) Fd i |

SIEEL
T 1 4 0]
o A= -1 2 2|, g =k & AAT =L 18
0 0 2
. -1V
qegdsy  OTE (r) I U] HL
Woody 3 4 6 7 10
Cherry 9 11 14 15 16
SCEL

Sty 37 @ @ gRemE @ T #R
x1 1] 2] 3| 41 5] 617
y|o| s [ 1012 1| 13]14 18
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e e e e —————

5. | Goods Base Year ____l'(;lﬂ‘.l}‘:llll_‘t’{:ﬂr -
[ --._-__,-Pn | LXp. P LExp.
A T4 | 40 | 5 50
B 3 21 3 27
& 6 48 8 40
D 5 30 4 32
E 8 64 10 60
T F FHANET @1 B YAl A |
AT
Years Sale
2010 80
2011 90
2012 92
2013 83
2014 94
2015 99
2016 92
2017 104 18
(et nigeTe)

AT :— (1) o5 U7 yms |
2) yms &89 1 (@lae-1) s T
- (3) aﬁagﬁﬁ'ﬁ%fﬁama@

gfse-1
1. JE & yrs a9 -
(1) “fearst Ae” & ufggfas a9
(2) 7a9 A=(1,2,3,4} m3 B={2,4,6)1 B-AS3
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3) 8F : = : y= —X = 2x

@) 9 Afcam” § ufesEr ad|

\'(5) NA3 € nJg ¥H|

(6) HE 83 -
X 2] 6 8] u] 2] uf 4] ujf 15] 16

(7) “2” < ufggmr fug

(8) HYIX &. ¥ ¥ Qurar ¥H

(9) “fs 32 fyze” § ufssios a9

(10) foardms @ € Buuiar /|

(11) “Feaidms” § ufssfas a9

(12) “g378” & ufgsfas a9 2x9=18
gfse-II
" - d
2.  AXT y = x,fm:raax—y= 1-vy).
X+5 dx y=y)
T

(R) H&mm = 1200x — 2x?
(C) ®a3 = x* - 61.25x* + 1528.5x + 2000
x 33 A ®g du 3 dU Y JLar| 18
gfse-1I1
3. #x3 N =100, X=40,SD, =5 <t dEa’ «ist et whi
53t 5% ffg @Rz = H® 40 <t g 50 8 fonr famr A
e = mR aEE (CV) &5
| At
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1 4 0]
ag A=| -1 2 2| ffuad fa AA' =1 18
00 2]
— 1
gfse -1V
4. nfg-¥eu (r) ¢ wfo-gaszr aﬁﬁr-gé :
~ Woody 3 4 6 7 | 10
CCherry | 9 | 11| 14| 15 16
Fr'f

9 8 10 | 12 |11 | 13 | 14 18
| giee-V
5. |Goods Base Year Current Year
P, Exp, P, Exp.
A 4 40 5 50
B 3 21 3 27
C. 6 48 8 40
D 5 30 4 32
E 8 64 10 60
fers & poaw agg &3
H
favsfesuz 327 &t yfeast o uzr wmarg -
Years ~ Sale
2010 80
2011 90
2012 92
2013 83
2014 94
2015 99
2016 92
2017 104 18
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